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afe 5x —y =22 TUT 64x — 45y =24 T
e @ g d x T y % A

Ug Ty T
8 : -
M 13 @ 715
7 -
3 12 4 12

A TR @ % dE w1 et

HU H OAE 0.6 feam gom @, @
: =R y ®1 A e, x %
o REeM A Q@ [ e dix Ty S o
TEgat Ui BT W BT

(1) =12 ) +112

(3) +0.7 4) -0.7

Ife 1 =/ x T y I e IO p
& HH 0.5 2 | Al AEIHE UM y H
x T R —1/8 A GHIHIY O x Wy

Ll

(1 -2 (2) -4

® 2 @) 4

A Gehdl B N = 1000, (A) = 600,
(B) = 500 T (AB) = 150 % T1¢ @weh
=l

(1) 3/Ta (2) @Td

(3) & 4) o A H1E T
ﬂﬁzﬂ(ﬂéﬂ?gﬂﬁmi‘%ﬁﬁmﬁ@fﬁ?m
TR ?

)] (aB)m(Ab)W%
(2) (aB)=(Ab)

(3) (aB)(Ab)=1

(4) Fgadt

e % @re=rd T Q H A 0T A % Wt
q‘cﬁﬁ@rﬁkﬁgﬂnwﬁmaﬁa‘r
IHHT HH BT
(1) =TS e & |
(2) k¥ O BAT |
(3) k3 femfora gvm |
(4) I9% A H @ k o feam Smim |

s s i bS] e ] it e} Tt St i Wi

Given the two lines of regression
5x — y = 22 and 64x — 45y = 24. The
correlation co-efficient between x and

y is

£ oo 28 8
M) 15 @) 75

T =7
@y 55 @ T3

The tangent of the angle between two
regression lines is given as 0.6 and the
standard deviation of y is known to be
twice that of x. Then the value of
correlation coefficient between x and y is
(1) =172 (2) 12

3y =01 4) -0.7

If the value of correlation coefficient
x & y, p is 0.5. If the regression
coefficient of y on x is —1/8 then the
regression coefficient of x ony is

(1) -2 2) -4

3) 2 4 4

With usual notations, for N = 1000,
(A) = 600, (B) = 500 and (AB) = 150,
the data are

(1) inconsistent
(3) efficient

(2) consistent
(4) None of these

If coefficient of colligation is / then it
implies that

(1) Either (aB) or (Ab) is zero

(2) (aB)=(Ab)

(3) (aB)(Ab)=1

(4) All of these

If all the terms containing A in Yule’s
co-efficient of association Q are
multiplied by a constant k, its value is :
(1) unaltered

(2) multiplied by k

(3) divided by k

(4) subtracted by k

05
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12.
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A 3R B W e ¥ Reeh
P(A) # 0, P(B) # 0, 99 A 3R B wda
HEAR, Afe 3 FHerer 7l

(1) P(ANB)=0

(2) P(AMB)=P(A) P(B)

(3) P(AUB)=P(A) + P(B)

(4) P(A/B)=P(A)P(B)

TH @A A T oAfh sl T 2,000 A1 6
TehdT 0.8 ® @1 T 800 B 6
TTRRT 0.2 B T 36eh! JeTem =T R 2
(1) % 1,600 (2) 160

(3) % 1,440 (4) % 1,200

Th AREE W X H WA T
B B f(x) = 3x%, 0 < x < 1 IR
P(X <a)=P(X>a) 8 dl ‘a’ &1 4 & :

1 1/3
m 3 @ 3)

1 1 1/2
oF @ 3
afe T Argfess =X X T Wik e
e yhR R

P(X =0)= P(X=2)=p

PX=1)=1-2p
ds X o JERUI T A &

(1) 1 (2) 1+2p
(3) 2p (4) 2p?

afe & weadl A T B 39 YHR & %
BCA Tl P(A — B) &1 M &

(1) P(B)-P(A) (2) P(A)-P(AB)
(3) P(A)-P(B) (4) P(B)-P(AB)

af¢ T Agfss WX wT A p =8
T T o2 = 9, @ YifeRar
P(—4 <X < 20) T = 7 8T
(1) 15/16 Q) 4/25

(3) 21/25 (4) 3T Big T

10.

If A and B are two events such that
P(A) # 0, P(B) # 0, then A and B are
said to be independent if and only if
(1) P(AnB)=0

(2) P(AnB)=P(A) P(B)

(3) P(AUB)=P(A)+P(B)

(4) P(A/B)=P(A) P(B)

In a game, a man can make profit of
< 2,000 with probability 0.8 and
suffers a loss of ¥ 800 with probability
0.2. What is his expectation ?

(1) T1,600 (2) T 160

- (3) 1,440 (4) 1,200

A continuous randoth variable X has
p.d.f. f(x) = 3x%, 0 <x <1 then the value
of ‘a’ such that P(X <a) =P(X >a) is :

M ® (1)

@ (%)112

Let a random variable X has the
distribution

P(X =0)=P(X=2)=p;

Bl— N[

3)

PX=1)=1-2p
then the value of variance of X is
(1 1 (2) 1+2p
(3) 2p (4) 2p?

If two events A and B are such that
BCA then P(A — B) is given by

(1) P(B)-P(A) (2) P(A)-P(AB)
(3) P(A)-P(B) (4) P(B)-P(AB)

A random variable X has a mean
u = 8, a variance o2 = 9, then the
lower bound of the probability
P(-4<X <20)is

(1) 15/16 (2) 4/25

(3) 21/25 (4) None of these
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16.

17.

If2 f(t) S ™ TEBH B F(s) =

L{f(t)} & wefdid L @ L {sint} HT AH
2

1
(1) T4 @ Zi7

1 .

R SR § e srafiee e
AT O AT & :

(1) E(XY)?<E (X% E(Y?)

(2) E($(x)) 2 $E(X)

(3) E(9(x) ¥ (x)) = E(¢(x)) E(y(x))
(4) T @ B TR

s fefen agfes W (X, Y) ®1 4T
ifrerdT e Bo @ ¢

2, 0<x<1,0<y<x
fix, y) = {0, TR

AfFEXF IR O<x< ) WY
w1 gufsterd TRepdl Oxcd Bl &R :
(1) 2x (2) 2(1-y)

1 1
3 3 Ofpe

% Q) = ~eo <t <o T TG

X &1 AA-Fed & @ X I T,
V(X) S A B

(1) 0
(3) 2

2) 12
(4) T A HIE G

afe e AT T X T AT -

Hod 8

Mx(t)=g—4(3+et)3,—oo<t<oo

A X % T V(X) HTTH 8
(1) 3/4 (2) 3/16
(3) 9/16 (4) T A HIE T8

l

l
!
i
|
|
]
|
|
|
|
l
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13.

14.

15.

16.

17,

If F(s) = L{f(t)} denote the Laplace
transform of f(t) then L {sint} is equal
fo:

1 s

2)

3) .(-sTll? (4) None of these

In usual notations, the Jenson’s
inequality on expectation is :

(1) E(XY)?<E (X?) E(Y?)
(2) E(¢(x)) = ¢E(X)

(3) E(d(x) ¥ (x)) 2 E(¢(x)) E(y(x))
(4) None of these

The joint probability density function
of a two dimensional random variable
(X,Y)is given by :

2, 0<x<1,0<y<x
fix, y) = {0, elsewhere

then conditional p.d.f of Y given X is
(0<x<1)

(1) 2x

3 1

) 2(1-y)
1
@1

1 ; & 3
IFQYY) = 1+ t2,—00<t<c:ols a characteristic

function of a random variable X, then the

variance of X, V(X) is
(1) 0 () 12
(3) 2 (4) None of these

If the moment generating function of a
random variable X is given by

MO=5(3 e, -0 si<a

then the variance of X, V(X), is
(1) 3/4 (2) 3/16
(3) 9/16 (4) None of these
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n TT p Sr=et o fgue s X w1 wifiekar
S FEH T B

(1) (q+pe)" (2) (q+pe)

(3) (q+pt" 4 (@+pt)"
Iie X 9 Y Q) Wad @i agiese =R
e ye e 1 928, APX+Y
<3)H I

(1) e3 (2) 3e73

(3) 4e73 4 12—7e—3
fefaftad & @ @ =i ot o @
el el Td 8 ?

(1) wamEi s ) foue s

(3) TEEFIEA  (4) HigtEA

aﬁxi~N(o, 1), i=127% @
X

w@%mat%aau=x—;wsrrﬁam

w8

(1) N(,1)

(2) Y= Hight

(3) I T /2 |1
(4) N(0,2)

Teh FRIU TOTRR &2 1 JTeell h! 6 a1 &
(1) Tn @) @
3) o= (4) =X

afg X s Taq agfees =X 2 e
TR B %o &

1
fix)=1b-a

0 , 3=en
a‘fmw%ﬁm‘wcmmwmumﬁm:

(1 2 @ b;a

Nig¥

18.

19.

20.

21.

22.

The probability generating function of
binomial variate X with parameters n
andpis:

(1) (q+pe)" (2) (g+pe)

(3) (q+pt") 4 (q+pt"

If X and Y are two independent
Poisson variates with parameters 1 and
2 respectively, then the

P(X+Y<3)is
(1) e (2) 3¢
(3) 4e3 4) 127 e

Out of the following, which one does
not follow central limit theorem ?

(1) Poisson distribution

(2) Binomial distribution

(3) Normal distribution

(4) Cauchy distribution

If X. ~N(, 1), i
independent random variables then the
distribution of
X

U= X_z is
(1) N(0, 1)
(2) Standard Cauchy
(3) Gamma with parameter \E
(4) N(0,2)

The number of parameters in Hyper
geometric distribution are :

(1) one (2) two

(3) three (4) four

1, 2 are two

If X is a continuous random variable
with

0 , otherwise
then its mean deviation about mean is ;

Wy
b+a (b —a)?
12
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25,

26.

27.

28.

Ife X w§ Y & Tea T =R § R
Wm:nlﬁnzﬁ?ﬁ)ﬂ(x-%\’)aﬂ
S B

(1) FEF (n, +n,)

(2) ST 9| T6R (n,, n,)

(3) fter feefta 6w (n), n,)

(4) T (n; +n,)

afe argee® =X X F1 TRl 5e T
T 8 [0, 118, 1ufa X ~ U (0, 1), 9
Y =-2 log, X %1 WTRehal e 8

(1) Y~U(0,2log,z2)

2) Y~N(0, 1)

(3) Y ~y(v4), THT T e 4 R |

4) Y~y @), e et 22 |

Jfg T X HIEM b Wb §T Bl O
AT 2 A X2 T & B

(1) N(0, c?) 2) By G’%)
(3) B, G’%] (4) v@

T# n,, n, S WA S TA F q&H HI
T1eA T BT R

(1) n

@) n,
(3) n,, n, M
(4) S 781 HE AT FehaT |

Ife w3-anf w7 § @ W (d.f) 2
(1) wmE s o oA 28 |

(2) =RETAEhE s d A 2 8 |
(3) T YO §eA

(4) Tnmaiz:rﬁﬁmmma?—r%@

25.

26.

27.

If X and Y are two independent gamma
variate with parameter n; & n, respectively

then distribution of X/(X + Y) is
(1) Chi-square (n, +n,)

(2) Betal(nj,n,)

(3) Betall(n;,n,)

(4) Gamma (n, +n,)

If X has uniform distribution in [0, 1],
that is, X ~ U (0, 1), then the
distribution of Y = -2 log, X is

(1) Y~U(0,2]log.2)

(2) Y~N(@O,1)

(3) Y ~v(%), Gamma with parameter %5
(4) Y ~v(2), Gamma with parameter 2

If X has standard Cauchy’s
distribution then distribution of X2 will

be :
@ #(33)

(1) N(0,c?%
11 1
3) B, (5’ 5] @ v (‘5]
The mean of F distribution with n;, n,

degrees of freedom the mean of it is
independent of

(1) n

2) n,

(3) bothny,n,

(4) Nothing can be said :

Chi-square distribution with 2 d.f.

converts into :

(1) Poisson distribution with mean 2

(2) Exponential distribution  with
mean 2

(3) Standard normal distribution

(4) Gamma distribution with

1
parameter 5

05
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Ife X T Y <) = TS THHIRT =R &
A XYY HI§A B

(1) TIHT e

(2) higl e

(3) tsH

(4) P Taet Fehr &1 e

T 8 1 400 IR IBTAT 7T 8 3N
223 fua 31 & af fres & amfufaa e
61 AlEReTT & vl w1 fq U
Tlteqor 3

(1) z-aiieqoy (2) t-adieron

(3) FE Tl (4) F-udigm

n,nﬁﬁﬁaﬂﬁmﬁlﬂ“(n,n)ﬁiﬂﬁ
ey 8

(1) n
(3) 1

(2) 2n
4 2

afe t ITTheTh, TS & -5 HT SFTFHW

T & Toehl W I n & a1 2 1

S BN ;

(1) ®rE-ai 5o fSmahl d.f. (n—1) 2 |

(2) n YT BT T €A

(3) GfehR &1 F-5ed faeh @
Hfe(1,n)? |

@ 5.(3)

T X, X, ..., X, Th TEER WA

N@®, 1) ¥ agfes wfwed 2 @

2 (5~ ¥ 1 ¥

(1) I3 i & (n — 1) WA B &
Yy

(2) t¥e (n— 1) = Sife & T

(3) F&A (1, n) Wa= Hife &A1Y

(4) AHH THH FeH

i——" T ———s s Soeam—n T SPIAN WA TR b — i St

30.

3L,

32.

33.

If X and Y are two independent
standard normal variates then the

distribution of X2/Y?2 is,

(1) Gamma distribution

(2) Cauchy distribution

(3) t-distribution

(4) B second type distribution

A coin is tossed 400 times had tails
223 times the hypothesis that coin is
un-biased, the appropriate test is

(1) z-test

(2) t-test

(3) chi-square test

(4) F-test

The median of F(n, n) — distribution
with n, n degrees of freedom is

(1) n (2) 2n
(3) 1 4) 2

If a statistic t follows student’s t-
distribution with n d.f, then t? follows :

(1) Chi-square distribution  with
(n-1)d.f
(2) Gamma distribution with

parameter n.

Snedecore’s F-distribution with
(1,n)d.f.

B> (321 IQL)

If X,, X, ..., X be a random sample

3)

C))

n
from N(6, 1) then, distribution of X

1=l
(x; — %)? is
(1) Chisquare with (n—1)d.f.
(2) tdistribution with (n— 1) d.f.
(3) F distribution with (1, n) d.f.
(4) Standard normal distribution.
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37.

38.

oI fgug sied 'C, p (- q)F % fore

forree @1 fawHar mone g ® Sl

—1 %|
@ o

2 2
o Bk a'aE

LIS D S nﬁﬁ%?ﬂ'ﬁa%
formg 1 g e 2, A B
P{Fm,n> Fm, n;a} =
GEREI= kR ean keI koo ke &
1
Fn.m;a

1

nm;l-a

'Pq

(1) Fm, n; a =

(2) Fm, n; o =

zs]

3) F =F

m, n; o

(4 F__ _=F

m, n; o

n,m; (1 —a)

n, m o

Tk =X X o1 TTRIehdl Bcd hei & :

x .
f(x)=% xe2,0<x<oodl 3§ H
1T TE TG B
(1) HI%E =2, Tl = 4

1 L
(2) e =3, TE =
(3) HIEH = 4, JHTI =2
(4) T = 4, TGO = §

afg t 3= O T WA Aheih & qUT

3T TG 3TTeheleh BT
(1) tn—% ) t,-n
(3) n-t (4) t +n

i
|
1
l
|

ﬁnﬁﬁaﬁqmlﬁrwaﬁm%m! 38.

HTE-a7 TE0T & FAGE @ ?

(1) "AF-=ie U-udiegm

(2) HICHTRIG — fRRAE T
(3) fercepram w1 frg wife adigmor
(4) iR whe
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34.

33,

36.

37.

Pearson’s co-efficient of skewness for

negative binomial distribution
. 1
_er p'(—q)*is where p = 6’ q= -(%

(p+9)? P+Q

@ 3o
2 2
o B ) COF

rPQ

(1)

Let F

m,n; o
of B distribution, that is

P{Fm.n = FIT], 1, GL} "
then which one of the following
relation is true ?
1
(1) 1:rn, n; o E F

n, m; o

1

nm;l-a

denote the upper a % point

(2) Frn,rj,nt= F
3) Fm,n;a*—‘F

4 F__._=F

m, n; o n, m; o

A variable X has the p.d.f.

n,m; (1l —a)

1 X
f(x) =2 xe~2for 0 < x < w then the

distribution has mean and variance as :
(1) mean =2, variance = 4

1 ; 1
(2) mean= 7> variance =7
(3) mean =4, variance =2
(4) mean = 4, variance = 8

If £ is a consistent estimator of 0,

another consistent estimator of 0 is :
1
2) t.=n

@) =g
(3) n-t, 4) t +n

Which of the following tests is analogous
to 2 — test of goodness of fit ?
(1) Mann-Whitney U-test

(2) Kolmogoroff — Smirnov test
(3) Wilcoxon signed rank test
(4) Median test

05
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Hﬁxl,xz, s X Toh Q'Iq%@?ﬁﬂﬁﬁﬁf%

IRCECE
0x+1,0<x<1,0>0
flx; 6) = { , 3T

| A TR, @ W 0, freen am
T ], T GATH ehorsh 8

(1) fllxi

) ,%xi

1l n
3) HE] %
(4) min. (xl,xp——-,xn)
g aieror e @
?3) ]%Erq'm (4) 9™ W
R et 0 % R T, wdds e aren
HHAF 2 TUTT,, e QT H1 HlE GHT
FHEH & AT, W T, & HA -
TS T[T BT :

(1) ¢ @) e

) | —e?
(B) 1-e 4) ——3
QEBBTH'!'H'PTHTT%N(“, Gz)ﬁxl,xz,...,
x, T Aghess wfoge form mm &

1 T o2 & fore vty srrener s 2
(1) (in,fo) Q) (x = (.- x2)
® (r2d) @ whawiE
IfE t, I 6 T AR el &
eﬂikaé‘gltrigL —éﬁk%ﬁm%
(1) te1ATed

(2) t T FET

(3) t¥ 0% T HgawY i

(4) 0T RIFaH TETAT STHEH

L TR e T U b i T ST B s TSt 8 At

40.

41.

42,

43.

w

If X, X5, ..., x, be a random sample
from distribution
_18x%l0<x<1,8>0
fx 5 6) _{ 0 , otherwise
then sufficient estimator of unknown
parameter 0 is

n
(1) Hl X
1=

@ I x

i=1
j_ n
® ok
(4) min. (x}, x,,..., X,)

Sign test is based on :

(1) Poisson distribution

(2) Geometric distribution

(3) Binomial distribution

(4) Normal distribution

If T, is most efficient estimator of a

parameter 6 and T, be any other

estimator for 6 with efficiency e then
the correlation co-efficient between T,

and T, is
(1) €2 2) e
5 oo a1 —e?
3) l1-e @ =
Let x;, x,, ..., x, be a random sample
from N(u, o) population then the

sufficient estimators for p and o2
respectively are :

(1) (in,zx?) 2) [E,'I%E(xi—ﬂz)
3) (in%Zx?) (4) None of these

If t is an unbiased estimator of 6 and

6‘% logL =
(1) mean of't

(2) variance of't

(3) correlation co-efficient of t and 0
(4) M.L.EEof 6

XB where A is ;
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45.

46.

47.

48.
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Who gave the method of moments for
the estimation of parameters ?

(1) R.A.Fisher (2) Galton

(3) Neyman (4) Karl Pearson

For a sample size n, under Wilcoxon
signed rank test, the variance of the
statistic T™ is

nn+1)(2n+1)
(1) 6

n(n+1)(2n+1)
(2) 4
n(n+ 1) (n+2)

24

nn+1)(n+2)
6

3)

4)

In usual notation, in sequential testing
we

(1) fix o and minimise B

(2) fix B and minimise o

(3) fix(a, B) and minimise E(n)

(4) fix(o, B) and minimise ‘n’

If A is most efficient estimator for a
parameter 6 and B is less efficient
estimator with efficiency e for large
samples. If p is the correlation co-
efficient between A and B then the
correlation between Aand B—A is :

(1) e ) 0
1
® 7 ) 31

Probability of selecting a sample of
size n from a population of size
N (< ) by systematic sampling

; N .
without replacement, and;= v is an

~ integer, is

1
9 s N

@ =

L

(3) vIN 4)

05
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A sampling procedure in which we do
not use probability is known as :

(1) Purposive sampling
(2) Subjective sampling
(3) Judgement sampling
(4) All of these

If a population consists a number of
disjoint sub-groups and then some of
the sub-groups are selected by simple
random sampling scheme, then this
method of sampling is called

(1) systematic sampling

(2) cluster sampling

(3) stratified sampling

(4) None of these

A random sample of a reasonable large
size possessing almost all properties of
the population confirms to the
principle of :

(1) inertia of large numbers

(2) statistical regularity

(3) optimization

(4) Newton’s 1* Law of inertia

The ratio estimator uses auxiliary
variable and it is more efficient than
SRSWOR if, in usual notation.

C C
(1) p> E; ) pzaf
15; 1_%

A population was divided into clusters
and it was found that within cluster
variation was less than the variation
between clusters. Which of the
following sampling scheme will give
best estimates ?

multistage sampling

stratified sampling

cluster sampling

systematic sampling
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1
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6 x 6 dfex wf Hfepewn & Ffe &

WA hife 8

(1 5 @2) 15
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The PPSWR sampling is expected to
be more efficient than SRSWOR when

(1

The correlation between Y and X
is positive.

The correlation between Y and X
is highly positive.

(2)

The correlation between Y and X
is negative.

(3)

The correlation between Y and X
is highly negative.

(C))

Local control is completely absent in
(1) Completely Randomised Design.
(2) Randomised Block Design.

(3) Balanced Incomplete Block Design.
(4) Latin Square Design.

If p is the intraclass correlation co-
efficient between units of the same
systematic sample then SRSWOR
would be superior to systematic
sampling if :

I
(D P<—Tk-1

1
@) p= “nk-1

1 1
G) P>—fk—1 @ PRk

In a 6 x 6 Latin square design, the

degrees of freedom for error is

(1) 5 (2) 15

(3) 12 4) 20

A 2 x 2 Latin square design is not used

because :

(1) There are only 2 rows

(2) There are only 4 plots

(3) There is no degree of freedom for
SSE

(4) there is only 1d.f. for treatments

For a Latin square of order ‘p’ there
can atmost the number of orthogonal
Latin squares will be

(1 @ 2 (-1

3) (p-2) (4) p?
' 05
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P ddsh e fawig? ¢

(1) 3T, +T,-3T,+T,

(2) T,+3T,-3T,+T,

(B) BT, -T,+T,+3T, |
@) T, +T,+T,-T,

TH 3 x 3 Afed o sfirpeaar 9 o
Afe it Y wifaa saae 6 e 8
() 3 2) 9

(3) 6 4) 4

24 — SEIUTEHT AR A TR THEA ®
@vel § ABC 9 BCD THTE! &1 Tehikd
foran SITaT B | @UET % 1Y 98 IWE A
I € gehitd & S, 8

(1) AB (2) AC

(3) AD (4) ACD

TR 3rfsreuT | ST 3=t &

T % o o form difereht adiem =i

FHTAE ?
(1) Fudigo
(3) y?wrlarur

2) t-gdregor
(4) T A HIS TR

T 23 FgIUTGH S H 8 IuER-gwi
%I g @uel # = yer @ foafa o
Gﬂ?ﬂ%:

Qg 1 pk | nk | (1) [ np
@ugll |n |npk|p |k
= % @ o w1 SR 3w gwia g
27

(1) NK
(3) NP
TH TER T s R p (p > 2)
= & 1 36 1T GYE H S

(1) SER T 5

(2) 1§ T §eA

(3) o= =y s

(4) T @ B TE

(2) PK
(4) NPK

| 60.
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Which of the following is a contrast ?
(1) 3T, +T,-3T,+T,

(2) T,+3T,-3T,+T,

(3) 3T, -T,+T;+3T,

(4) T,+T,+T;-T,

For a 3 x 3 LSD, the total number of
possible arrangements of Latin squares
(LS) are

(1) 3 2) 9

3) 6 4) 4

In a 24 factorial, the effects ABC and
BCD are confounded to obtain the
blocks of size 4 units. The effect
which is automatically confounded
with the blocks is :

(1) AB (2) AC
(3) AD (4) ACD
For finding out critical difference of
treatment - means in design of

experiments, which statistical test is
used

(1) F test
(3) x> test

(2) t-test
(4) None of these

In a 2° factorial experiment the eight
treatment combinations allocated in
two blocks as under :

BlockI |pk [nk |(1)]|np
BlockII |[n [npk|[p |k

Which of the following treatment
combination is confounded ?

(1) NK (2) PK
(3) NP (4) NPK

For any subset of p-elements (p > 2) in
a multivariate normal distribution will
follow :

(1) Multivariate normal distribution
(2) Chi-square distribution

(3) Bivariate normal distribution

(4) None of these
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In a BIBD with parameters v, b, r, k
and A the inequality b > v is given by :
(1) Yates

(2) Fisher

(3) R.C.Boss

(4) Yates and Grandy

For a given p-variate multivariate
normal distribution Np(p., %), the total

number of parameters are

5
() pp+3y2 @) 3p
3) 8p(p+2)2 (4) Sp(p+2)8
LetXwN]J (W, Z)and Y = CX be a

transformation, where C is an x p non
singular matrix than the distribution of
Yis
(1)
()

Chi-square distribution with p d.f.
Chi-square distribution with np
d.f.

(3) N, (Ch, CZC)

(4) N, (Cy, CEC)

If the variance covariance matrix Z of

a multivariate normal distribution is

not full rank then

(1) multivariate distribution does not

exists.

it degenerates multivariate normal

distribution with denomination

same as rank of X.

(3) Neither multivariate distribution
exists nor it degenerates multivariate
normal distribution with

denomination same as rank of Z.
(4) None of these

)

If u and o are process mean and S.D
then the control limits p + 3¢ are
known as |

(1) modified control limits

(2) natural control limits

(3) specific control limits

(4) None of these

05
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‘(1) Lot

If ¥ is the mean of a sample of N

drawn from multivariate normal
population Np(p, Z), and X is known,

then the distribution of

NX-p) =1 (X-p)is
(1) Central 2 (2) Non-central 2
(3) Hotelling’s T2 (4) Wishart

The small fraction of defectives p; on

the basis of which a lot is not rejected
except for a small number of times, is
called :
Tolerance
Defectives (LTPD)
(2) Rejecting Quality Level (RQL)
(3) Acceptance Quality Level (AQL)
(4) None of these

Proportion

OC curve reveals the ability of the
sampling plan to distinguish between :

(1) good and bad lots

(2) good and bad sampling plans
(3) good and bad products

(4) All of these

In case of p-variate distribution, where
W is the co-factor of the element in i

row and j column of determinant w
of correlation matrix, the partial
regression  coefficient b, 4, P is

defined as, when o; denotes standard

deviation of X, (i=1, ..., p)
..
o, W
1 Wio
(2) b T
123407 " o, Wy,
W
. 12
(3) b =
12.34...p W11 w22
_ G, W
1 W12
4) ‘Ib12‘34..‘p““(;2 W
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The probability of rejecting the lot
having p as process average is known
as

(1) Consumerrisk (2) Type Il error
(3) Producer’srisk (4) All of these

The theme behind the use of R chart in
statistical quality control is :

(1) For small samples the control
limits for standard deviation (o)
can be replaced by the control
limits for range (R).

It is easier to calculate R then o.

(2)
(3) In using R chart instead of o chart
a little loss in efficiency which is
acceptable.

(4) All of these.

When the values of parameters are

unknown the 3c-control limits for X
are given as; where all notations are
standard and have their usual meaning

(1) Xx+AS,x-AS

(2) X +A,5,x—-As

() X+A5, X - A

(4) X+d;5,x—dss

When all the notations are standard

and have their usual meaning, then
upper control limit of R-chart is

(1) D,R (2) AR

(3) AR (4) D3R

An observation was left out unnoted in
the data table of two groups. Now to
identify to which group it belongs can
be ascertained using :

(1) Cluster analysis

(2) Discriminant analysis

(3) Factor analysis

(4) Any of these
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When in a variance-covariance matrix,
variances are equal in discriminant
analysis then which of the following
functions is used ?

(1) linear function

(2) polynomial function

(3) quadratic function

(4) cubic function

In  statistical  quality  control,
producer’s Risk, in usual notations, is
(1) o = probability of type I error.

(2) B = probability of type II error.
3) 1-a

(4) a+p

For the following Auto-regressive
series

Vi1 = ay; T €, | a| <| where a is
constant and g, ~ NID (0, ¢2), then the
value of auto correlation of order
v (r,)is
(1) r,=1+av
3) r,=av-1
Laspeyre formula has

2) r,=1-av

4 r,=av

bias and
Paasche’s index has bias.
(1) (anupward, a downward)
(2) (a downward, an upward)
(3) (an upward, an upward)

(4) (a downward, a downward)

The most appropriate average used in
construction of index numbers is

(1) Arithmetic mean

(2) Geometric mean

(3) Harmonic mean

(4) Median

The simple average method does not
remove the effects of and
variations.

(1) (seasonal, cyclic)(2) (cyclic, irregular)
(3) (trend, seasonal) (4) All of these
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The total fertility rate in a town is
given to be 3619. Assuming that for
every 100 girls, 106 boys are born, the
gross reproduction rate would be :

(1) 3416.1 (2) 1756.8

(3) 1862.2 (4) 29289

Following the usual notations, it is
given that

> B, =7059,% [P_= 107700 and
X X

X 5i, = 446, then Total Fertility Rate
X

(TFR) per 1000 is

(1) 446 (2) 2230

(3) 65.55 (4) 1030

The extraction method of obtaining a
set of principal components utilizes
the property of :

(1) orthogonality (2) equality

(3) orthonormality (4) None of these

The moving average method to
determine trend eliminates :

(1) short term fluctuations

(2) long term fluctuations

(3) cyclic fluctuations

(4) irregular fluctuations

To which component of time series,
the term recession is attached ?

(1) Trend

(2) Seasonal variation
(3) Circular variation
(4) Random variation

Factor Reversal test is satisfied by
which of the following Price Index
number ?

(1) Laspeyre’s Index number
(2) Paasche’s Index number
(3) Bowley’s Index number
(4) None of these
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% 2,000 wiaad ® qun =me] 9§ H 98
% 5,000 yioas B | Al IuWRRT Hou

=R (CPI) 325 1 o et Sffeq &

H T WA F U frad w &
SATERAhdl grft (T H)

(1) % 2,000 (2) %1,800
(3) 21,750 (4) % 1,500

s T ot s i T UMM L o S TS it
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93.

94.
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96.

Circular test is satisfied by which one

of the following index number ?

(1) Fisher’s Ideal Index number

(2) Bowley’s Index number

(3) Index Number based on simple
Geometric Mean of price
relatives. i

Index number based on simple .
arithmetic mean of price relatives.

4)

The increase in the cotton cloth in a
departmental store is associated with
which component of time series ?
(1) Trend
(2) Seasonal variation
(3) Circular variation
(4) Random variation
The Correlogram of the following time
series

yy = A sin 6, + g, where A is
constant and where g ~N(0, o?) is
given by
(1) c=A%(A%2+c?)
(2) c=A?%(A?2+262)

(3) c=A%c2
(4) c=A22c2
Which of the following is/are
equation/equations of the Growth

curve, if y, is the value of the variable
at time t and v, a, b are constants
(1) y,=v+ab

@) y,=va®
(3) y,=a+bt

(4) Bothy,=v+abtandy, = yat'

If the salary of a person in the base
year is I 2000 per annum and in the
current year is I 5,000. The CPI is
325, then the allowance required to
maintain the same standard of living
is¥:

(1) 2000
(3) 1750

(2) 1800
(4) 1500
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T e i v s B aeqgad A e

N2 | w1 % n wfeest 1 3R 8 qen
TH T H WHR B h ST,
e wliepr Toran Hiwr p &Y, Pa g | a9
ivga forteft Tporer =i 61 A B

(1) (N-0P/N - (2) (N-n)P/Np
(3) p(N-n)P/N  (4) (N-n)p/Np,

= 3 9 ®F 91 IS HSHA

T&T0T ! FeTTud BT & ?
(1) Afc-vgad 91

(2) TR = amedt g7
(3) oeH I A

(4) I8 e+

T ARG HE (item) Td GRYOT TSl T
31T e = AT 2

(1) AR

(2) AT A

(3) wfoedt Ffe

(4) T8 @ BIE T

Tl ITCT-3TRT YR 9 el Fahieh

AR H NEH TH hiAd YR dqTeAl

TH T GIHEE A0 TR H

FHEA & :

(1) T (J8)

(2) 3R ufEaH

(3) oA (SEre) qen YR itEd
CSll

(4) T=AfEm (Jema) qun uR aREd
T G g Ta

II-YRO & WHET Hehdl § od §¢, H
lx+1W%

(1) 4L(-q,)
3) a./p,

() .d/p,
4 . (1-p)
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99.

100.

(3) a/p,

Suppose, the number of items in the
lot is N. Let n be the sample size and
Pa the probability of accepting a lot of
acceptance quality level p. The
average out-going quality limit is

(1) N-mP/N  (2) (N-n)P,/Np
(3) p(N-nP,/N  (4) (N-n)p/Np,

Time reversal test is satisfied by which
of the following index numbers :

(1) Marshall-Edgeworth formula

(2) Fisher’s ideal formula

(3) Walsch formula

(4) All of these

The ratio of the unique items to the
total number of items is a measure of :
(1) formula error

(2) homogeneity error

(3) sampling error

(4) None of these

Combining two index number series
having different base periods into one

series with common base period is
known as :

(1) Splicing
(2) Base shifting
(3) Both Splicing and Base shifting

(4) Neither Splicing nor Base shifting

. Following with the usual notations of

life table, the value of / ,, is equal to
(1) (d-q) (2) d/p,
4 L, (-p)

05
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05

TH T4 F F Y a1t s ) AR
T & ! HEd 8

(1) T G &

2 RyTgw

(3) A I

(4) M-I R

T & A el SH T FF g HT I

HEAT &

(1) SfEae

(2) B I GIHIH

() -7 gEH®
HEH)

(4) SEE gy T

(wEEt

GHRIG: Sfiad 9Refl & S9/1 STdT 2
frel 30 & & U & R’ | T®
3T &

(1) THaY

(2) i ay

(3) W E 109

(4) T I HIE T

Sfted @uehl &1 TSR e % gma
Tt fema STaT &

(1) SPRE SR

(2) =R S

(3) STHIUHT HHER

(4) FgEd

e gfg % T SI-Te g
1 o g wwafera fopan T

(1) . sonfm

(2) St sThat

(3) . =ien

(4) Wi daet

|
|

T T S ARl Ao St} T RIS} MBS Voot et
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103.

104.

105.

106.

Age specific death rate for the babies
of age less than one year is specifically
called :

(1) neonatal death rate
(2) infant mortality rate
(3) maternal mortality rate
(4) foetal death rate

The ratio of total births to the total
deaths in a year is called :

(1) Survival rate

(2) Total fertility index
(3) Vital index

(4) Population death rate

Normally a complete life table is
constructed for an age interval of :

(1) one year

(2) five years

(3) five to ten years
(4) None of these

Registration of vital statistics is

organised at the apex by :
(1) Director General

(2) Registrar General

(3) Census Commissioner
(4) All of these

The vital index for population growth
was propounded by :

(1) B.Benjamin
(2) G. Barcley
(3) N.Newsholmes
(4) Rayond Pearl
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ARoT T WiET 1 HehdlT &

(1) TETR YT o Terlt TRERE & forg

(2) AR YT % T} TRERaT % fog

(3) & TR QAT Fehr bt F=ret
SR 3 forg _

(4) 72 gE 3N A & AR THR H

gt aRERal & o
frfeafea § @ #F @ S wafa &
AT ?

(1) T (2) T T
(3) mrafEeR  (4) IqY faEem
ANSTE T3k ! GEEal U His SARe 7
& HhdT B

(1) =gt (2) "ea foraem
(3) W& (4) =quis faeem
afg U S 1 e b r, <0 R Al
E1Ra : |

(1) el (2) HE Fohedl

(3) TR ETHET  (4) THAFE A
fe=mm  (Histrogram) frg yHR &+
queh] o1 wefid & H & e sfa g 2
(1) §ad THh! T T

(2) 3TEad GHh! T TR

(3) Had 3 ITHAd GH1 THbI T TG
(4) T @B R

n n
afg fean gan @ 2 % = 30, Sz x3=250
i= i=1
qT n = 10, & A0 x, x, ..., x, W

TEROT T[UTTR BT
(1) 3/16 (2) 16/3
3) 3/4 ) 4/3

s o et <9 & 3 & geffa
G
(1) wfasa

(3) FEs

(2) HU
(4) T HE TG

107.
(D

108.

109.

110.

111.

n
. Given 2 X;

Ogive curve can be drawn for

more than type cumulative
frequencies.

(2) less than type cumulative
frequencies.

(3) Both more than and less than type

cumulative frequencies.
None of more than and less than
type cumulative frequencies.

C))

Which of the following is a measure of
central tendency ?

(1) Median

(2) Standard deviation

(3) Mean deviation

(4) Quartile deviation

With the help of Ogive curve one can
determine

(1) Quartiles

(2) Mean deviation

(3) Variance

(4) Quartile deviation

If the coefficient of Kurtosis for a
distribution r, < 0, the frequency curve
of it. '

(1) Leptokurtic  (2) Mesokurtic
(3) Platykurtic (4) Any of these

Histogram is suitable for data
presentation if it is

(1) Continuous group data

(2) Discrete data

(3) Continuous group data and

Discrete data both
None of these

)

.
= 30, Z X5= 250 and
i=1 =1
n = 10, then coefficient of variation of

the series x,, x5, ..., X, is
(1) 3/16 (2) 16/3
(3) 3/4 (4) 4/3
. Pie chart represents the component of
a factor by

(1) Percentage
(3) Sectors

(2) Angles
(4) None of these

05



114.

115.

116.

117.

118.

119.

120.

05

h1el - TR & fowmer ories <1 dand
g

(1) =1
(3) +3

(2) +2
4) 091

AT e Forgent W 120, Tgateh 123
FO-fRRes & fwvmar e

—0.3 B T 3HHT TG 70T (c.v.) BT
(1) 39.72 ) 10.23
(3) 15.44 (4) 833

I8 % fawwar o W faeRor %
fqeR® o< ® gF HH $ forg
forman & fey mass 1 formem & T
1o @ Tt ferar srar 2

(1) =g fomar  (2) =qufes fomrem
(3) T g (4) AN famem

qﬁax+by+c=0%, &l a (> 0),
b (< 0), c (= 0) fT= 2, @ Ifa®
=R x d y & S TEEEY VT (r) 1 HH
2

(1) r=+1
(3) r<+]1

+\/1-r* B HEA B :

(1) ST TR

(2) Frerreor Torres

(3) famsy 7ores

(4) e U

& Uiy A 3R B @A &

(1) (AB)=(A)(B) (2) (AB)=0
3 4B =L 4y (aB) = (ab)

2) r=-1
4) r>-1

g WIS x + 2y — 5 = 0 qul
2x+3y-8=0F TG, AT V(x) = 12

8, T V(y) FITA R
(1) 16 ) 4
(3) 3/4 4) 4/3

TS TENI S WA S b et i ] AR D AR it Yo
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116.

117.

118.

119.

120.

Limits of Karl-Pearson’s co-efficient
of skewness are :
(1) =1
(3) £3

2) 2
(4) Oto 1

The co-efficient of variation (c.v.) of a
frequency distribution whose mean is
120, mode 123 and Karl-Pearson’s co-
efficient of skewness — 0.3 is :

(1) 39.72 (2) 10.23

(3) 1544 (4) 8.33

In Bowley’s co-efficient of skewness,
the disturbing factor of variations is
eliminated by dividing the absolute
measure of skewness by which
measure of dispersion ?

(1) Quartile range

(2) Quartile deviation

(3) Mean deviation

(4) Standard deviation
Ifax + by + ¢ =0, where a (> 0), b
(< 0), ¢ (# 0) are constants, then the
value of correlation coefficient (r)
between random variables x and y is

(1) r=+1 2) r=-1
G) r<+1 @) r>—1
+41 —r? is known as :

(1) Co-efficient of variation

(2) Co-efficient of determination

(3) Co-efficient of alienation

(4) Co-efficient of non-determination

Two attributes A and B

independent then :
(1) (AB)=(A)(B)(2) (AB)=0

3 (aB)=HB 4y (ap)=(ab)

Given the regression lines
x+2y-5=0,2x+3y-8=0, and
V(x) = 12, the value of V(y) is

(1) 16 (2) 4

(3) 3/4 (4) 4/3

are
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